ERFm hHlesE 1SO 9001:2008

KHB (BKH) . KHM ( MKH ) Z5ISEBKIE

i i EEOBRE B A S !
KHB(BKH). KHM ( MKH ) Series High Pressure Ball Valve JEELORE R PNDN LW RA dl i L L1 B H hl h2SWlSw2
. dl KHB-M16x1.5 500 06 06 11 M16x1.5 11 69 40 26 45 135 33 09 22
. BISi5EE Model Code M RA KHB-M22xL5 500 10 08 16 M22x15 12 76 42 32 49 16 36 09 27 :
IH%Z KHB- M27x1.5-10 -1111 -01 -1 LW KHB-M27x1.5 500 10 10 20 M27x15 12 76 42 32 49 16 36 09 27 %ﬁ
1 2 3 4567 8 9 . KHB-M30x1.5 400 16 15 24 M30x15 13 84 48 38 61 19 45 09 32
B ' SW2KHB-M36x2 400 20 20 30 M36x2 15 103 60 48 70 25 55 12 41
LRHARS : KHB (BKH ) RFI-@HREEKEDNO4-25, T4 KHB-M42x2 350 25 25 35 M42x2 18 116 65 57 79 285 64 12 50 i
- KHM(MKH)Z51-HER5E DN32-50 ; ZF;:Z%HAJB;)M_Wﬁﬁ KHM-M52x2 350 32 30 40 M52x2 20 149 84 75 101 375 84 14 60 n%
it 2 RS M G FELR. FYSRL PTHA NPT ks ™™ KHM-M60x2 350 40 38 45 M60x2 22 174 91 85 112 425 95 14 70
¢ 18 3AFRIE@IR 1 04, 06, 08, 10, 13, 16, 20. 25, 32, 40, 50; KHB-G1/8 500 04 06 G1/8 14 69 40 26 45 135 33 09 22 1 ¢
o AR, B 0 1-45#, 3-316EW ; G KHB-G1/4 500 06 06 / G1/4 14 69 40 26 45 135 33 09 22
% SERC. HBIAIRL - 1-45#, 3-3164E4 ; KHB-G3/8 500 10 10 _— G3/8 14 72 42 32 49 16 36 09 27 %
118 6.3REyt1#: - 1-POM (REEE ) | 2-PTFERIAIME ) | d1 KHB-G1/2 500 13 12—~ G1/2 14 83 47 35 49 18 38 09 30 2.
¥ 7 Rk SRSt B R 0 1-NBR(T BB ) . 2-FPM/FKMGESE) ; i
is o= ~ - ) ' KHB-G1/2 400 16 15 G1/2 16 83 48 38 61 19 45 09 32 it
i 8.F il 01-CRUFAEMFM . 02-BEFESES TR, 03-BELEEINMFA. LW | sw2 / / wE
[ . KHB-G3/4 400 20 20 / G3/4 18 95 60 48 70 25 55 12 41
09-FF1R
: 9 EFELME: 1-TEE =M i KHB-G1 350 25 25 / G1 21 113 65 57 79 285 64 12 50
,‘% BT | ENSEXIR R RN, - il ﬂ KHM-G11/4 350 32 32 / Gl1/4 22 110 84 75 101 375 84 14 60 g
B MRL11LAENERES | PTFEMRMERN RS LIEENAEII100bar i KHM-G11/2 350 40 38 / G11/2 24 130 91 85 112 425 95 14 70 i,
: HeRFHFERERBEEH ) . KHM-G2 350 50 48 G2 26 140 100 104 131 52 112.5 14 90 ’
KHB-NPT1/8 500 04 06 NPT1/8 11 69 40 26 45 135 33 09 22
NPT(PT) KHB-NPT1/4
oy 1.Series Code:KHB (BKH) Series Valve block ball valve DN04-25 o U0 IR e L0 e S G-
1 KHM(MKH) Series Sleeve type ball valve DN32-50; d1 KHB-NPT3/8 500 10 10 / NPT3/8 11 72 42 32 49 16 36 09 27 -1
2.Joint Code:M**_ G** **LR_ **SR_ PT** NPT**; KHB-NPT1/2 500 13 12 / NPT1/2 14 83 47 35 49 18 38 09 30
3.Nominal Diameter:04, 06, 08, 10, 13, 16, 20, 25, 32, 40, 50; LW, | SW2 g NPTz 400 16 15 " NPTL2 14 83 48 38 61 19 45 03 32
4.Valve body/joint material:1-carbon steel, 3-316 stainless steel . I KHB-NPT3/4 400 / E
5.Ball body/ Valve lock material:1-carbon steel, 3-316 stainless steel [ N . / 20 20 LU 15 95 60 i i 23 = - g?
6.Ball sealing material:1-POM 2-PTFE = ! KHB-NPT1 350 25 25 / NPT1 17 113 65 57 79 285 64 12 50 B
7.Sealing material(Sealing material of joint/valve lock):1-NBR 2-FPM/FKM A ! KHM-NPT11/4 350 32 30 / NPT11/4 18 110 84 75 101 37.5 84 14 60 I@%
8.Handle Type:01-C type zinc alloy crooked handle 02-B type zinc alloy crooked handle B ¥
03-B type casting steel crooked handle 09-without handle bR P2 SR e 1) = / NEEE LI CElUTEr L DA 20 i 70
" 9.Surface Treatment: 1-SILVER ZINC PLATED KHM-NPT2 350 50 48 NPT2 18 140 100 104 131 52 112,514 90 .5
%%ﬁ PS:The Material Pressure parameters corresponding to the product is carbon steel. KHB-06LR 500 04 04 06 M12x1.5 10 67 40 26 45 135 33 09 22 %:ﬁé
Z; & 1111 is the normal mix ,the PN no more than 100bar when using PTFE. LR KHB-08LR 500 06 06 08 M14x1.5 10 67 40 26 45 135 33 09 22 Hﬁé
3 4 (other specifications please contact us) ' ’ gﬁu
KHB-10LR 500 06 08 10 M16x1.5 11 74 40 26 45 135 33 09 22
24° KHB-12LR 500 10 10 12 M18x1.5 11 74 42 32 49 16 36 09 27
2 =] T4 A =3 d1l KHB-15LR 500 13 12 15 M22x1.5 125 82 47 35 53 18 38 09 30 o
fa B Az#F S Symbol %
- 7 y {><} RA KHB-15LR 400 16 12 15 M22x1.5 12 82 48 38 61 19 45 09 32 i 5
: LW KHB-18LR 500 13 12 18 M26x1.5 125 82 47 35 53 18 38 09 30 ‘
KHB-18LR 400 16 15 18 M26x1.5 12 82 48 38 61 19 45 09 32
JMIZR T Overall Dimensi
L) 7 vera imension Il sw2 KHB-22LR 400 20 19 22 M30x2 14 101 60 48 70 25 55 12 41 B
§§ - == KHB-28LR 350 25 25 28 M36x2 14 108 65 57 79 285 64 12 50 %
L swi L SW1 Y A '
n% ! KHM-35LR 350 32 30 35 MA45x2 16 141 84 75 101 375 84 14 60 nr%
F m SW2 r SW2 r KHM-42LR 350 40 36 42 M52x2 16 162 91 85 112 425 95 14 70 "‘
. KHB-08SR 500 04 05 08 M16x1.5 12 73 40 26 45 135 33 09 22
5 ;&j . ‘ M\ & B SR KHB-10SR 500 06 06 10 M18x1.5 12 73 40 26 45 135 33 09 22 ;wj
T ] — — = £z
L m - K\ T ” KHB-12SR 500 06 08 12 M20x15 12 76 40 26 45 135 33 09 22 &
L _ < L _| /_\ £ 41 KHB-14SR 500 10 10 14 M22x1.5 14 80 42 32 49 16 36 09 27
K J = k&%) = " KHB-16SR 400 13 12 16 M24x15 14 8 47 35 53 18 38 09 30
g 1 KHB-16SR 500 16 12 16 M24x1.5 14 86 48 38 61 19 45 09 32 gz
i | LW - 2
u 1 ‘w 1 W KHB-20SR 500 13 13 20 M30x2 16 90 47 35 53 18 38 09 30 I
: L B L B | KHB-20SR 400 16 15 20 M30x2 16 90 48 38 61 19 45 09 32 ’
_ | 0} SW2HB-255R 400 20 20 25 M36x2 18 109 60 48 70 25 55 12 41
KHB ( BKH ) # KHM ( MKH ) 84 ﬁ:—\rﬂ KHB-30SR 350 25 25 30 M42x2 20 120 65 57 79 285 64 12 50

KHM-38SR 350 32 30 38 M52x2 22 153 84 75 101 37.5 84 14 60

YR Bolev WWW.BOLEV-HYDRAULICS.COM




